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1

J xeexp(x) dx =
The Midpoint Method: 0

evalf (Approximatent (x-exp(x), 0..1, 'partition' = 10, 'method' = midpoint, "partitiontype' = normal, 'output' = "walue'))

0.9981523883 (1)
evalf (Approximatent (x-exp(x), 0.1, 'partition' = 5, 'method' = midpoint, 'partitiontype' = normal, 'output' ="value'))

0.9926210129 (2)
evalf (Approsimatelnt (5-exp(x), 0.1, 'partition’ = 20, 'method' = midpoint, 'partitiontype' = normal, 'output' = 'value'))

0.9995379178 (3)

Left Endpoint:

evalf (Approximateint (x-exp(x), 0.1, 'partition’ = 5, 'method' = left, 'partitiontype’ = normal, 'output' = value'))

0.7429428906 4)
evalf (Approximatent (x-exp(x), 0.1, 'partition' = 10, 'method' = left, 'partitiontype' = normal, 'output' = value'))
0.8677819517 (%)

evalf (Approximatent (x-exp(x), 0.1, 'partition' = 20, 'method' = left, 'partitiontype' = normal, 'output' = value'))
0.9329671699 (6)
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Right Endpoint:

evalf (Approximatent (x-exp(x), 0..1, 'partition' = 3, 'method' = right, 'nartitiontype’ = normal, 'output' = walue') )

1.286599256 (7
evalf (Approximatent (x-exp(x), 0.1, 'partition' = 10, 'method' = right, 'partitiontype' = normal, 'output' = value'))

1.139610134 8
evalf (ApproximateInt (x-exp(x), 0.1, 'partition' = 20, 'methad' = right, 'partitiontype' = normal, 'output' = "value'))

1.068881261 o

Trapezoid:

evalf (Approximatent (x-exp(x), 0.1, 'partition' = 5, "method" = trapezoid, "partitiontype' = normal, 'output' ='value'))

1.014771073 (10
evalf (Approximatent (x-exp(x), 0.1, 'partition' = 10, 'method' = trapezoid, 'partitiontype' = normal, 'output' = value'))

1.003696043 (11
evalf (Approximatent (x-exp(x), 0.1, 'partition' = 20, 'method' = trapezoid, 'partitiontype' = normal, 'output’ = "walue'))

1.000924216 (12

Simpson's:

evalf (ApproximateInt (x-exp(x), 0.1, 'partition' = 3, 'method' = simpson, 'partitiontype’ = normal, 'output' ="value'))

1.000004366 (1:
evalf (Approximatent (x-exp(x), 0.1, 'nartition' = 10, 'method' = simpson, 'partitiontype ' = normal, 'output’ ="value'))
1.000004366 (14

evalf (ApproximateInt (x-exp(x), 0.1, 'partition' = 20, 'mathad' = simpson, 'partitiontype' = normal, 'output' ="value'))
1.000000273 (1:
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